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This document is a skeleton which provides macros to help typeset your solution to the
coursework.

Rules can be typeset like this:

e.var
x ∈ dom(s)

〈x, s, h〉 ⇓e 〈s(x), s, h〉
e.num

〈n, s, h〉 ⇓e 〈n, s, h〉

e.add
〈E1, s, h〉 ⇓e 〈n1, s′, h′〉 〈E2, s

′, h′〉 ⇓e 〈n2, s′′, h′′〉 n3 = n1 + n2

〈E1 + E2, s, h〉 ⇓e 〈n3, s′′, h′′〉

e.new
a /∈ dom(h) (a+ 1) /∈ dom(h)

〈newpair, s, h〉 ⇓e 〈paq, s, h[a 7→ 0][a+ 1 7→ 0]〉

e.fst
〈E, s, h〉 ⇓e 〈paq, s′, h′〉 a ∈ dom(h′)

〈E.fst, s, h〉 ⇓e 〈h′(a), s′, h′〉

e.snd
〈E, s, h〉 ⇓e 〈paq, s′, h′〉 a+ 1 ∈ dom(h′)

〈E.snd, s, h〉 ⇓e 〈h′(a+ 1), s′, h′〉

Derivations can be typeset as in Figure 1
Types:

Γ; s;h ` well-typed

Γ ` E : τ

h 
 v : τ

Suppose that Γ; s;h ` well-typed. We wish to show that

Γ ` E : τ =⇒ h 
 v : τ .
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